W79 =hJLT—4 / Technical Datall
##{thJLY / Recommended torque
M2.5 : 0.15N*m ~ 0.2N*m

M3.M4 : 0.3N*m ~ 0.6N*m

R NZA / Components

No. & ¥ / Part name = / Pcs B / Material & - REWE / Color+Finish
| a—F—Javy 4 TILEH A F ¥ X ADC12 DIN—, TFvY - Bk (RERRLIE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) AR ) T ILEHHH A6063S-T5 DIVN—- B (NERRALE)
Frame Extruded aluminium A6063S-T5 Silver - Painted (Unfinished inside)
3 IL—L4 4 T ILEHHH A6063S-T5 D ILN— B (R ERELEE)
Panel support frame Extruded aluminium A6063S-T5 Silver - Painted (Unfinished inside)
. At ) 7 LEHR A1100P DILN— R (REEBNE)
Panel Aluminium A1100P Silver - Painted (Conductive inside)
5 HiN— | 7 JLEHR A1100P DN— B (RELENE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 This— . 7 JL2HR A1100P DN— B (RELBNE)
Bottom cover Aluminium A1100P Silver - Painted (Conductive inside)
JLE TPE (TZRHR) I3vYy
7 Ruber feet 4 TPE (Elastomer) Black
TR PRI R == VIIN—T LA & TFVH
Aluminium feet Aluminium & Silicone Silver*Anodized & Black
8 EMCY—ILRH R 16 LB (ULI4V-0) A yHTL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 HRATE R (IMM3 x 8) 16 % SV AV
Screw (Flat head M3 - 8) Steel Nickel plated
10 BAFE R (BZM3 x 5) 1 % UL A
Screw (Trapezoid head M3 - 5) Steel Nickel plated
" BAFE R (/N1 FM4 x 8) 4 Fi3 =Z@E/aA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate
12 BATE R G&E TFRELEFM25 x 7) 12 % Ty LAY
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

F view
F1Z& / Product Number
an I e e N B N e O N :
Hetsk Wtk D¥Fi& BR/A EX®P/H & itk
H dimension W dimension D dimension Feet (Ror A) Screw (P or H) Color Type 1

BAL#k / Feet specification ERE R4E#E / Original trapezoid head screw specification

B30 10 12 12

E I L2 / Rubber feet FILZRE / Aluminium feet E 7SR / Phillips 75A / Hexagon—socket

& 4t4% / Color Type

AHEHIMIFH I 2EREOEIFE SRR INFBIE T E(C)FELET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

i25 / Code

I—+—78v% / Corner block

{8I#R / Frame

X2 / Panel

$1/\— / Top cover

T#/3— / Bottom cover

S S

< JLs3— / Silver

2 )L1N— / Silver

< )L13— / Silver

< )L/SA— / Silver

< JLs3— / Silver

S B

7594 / Black

< JL/3— / Silver

< )Ls3— / Silver

< )L/3— / Silver

< JL/3— / Silver

B/ Title
TAKACHI| BARHINTFEHIE JSRILBRISEMCS — LR — R @ —1
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with DETACHABLE PANELS
#2/Approved #: &/ Checked %[ /Created #4% /Product number RIg/Scale
AUPE88-50-43000-0O0
iR Ed it R—T/Page
YERLH /Date 2022/12/29 171




D view

B-B(1:75)

453

383

E view

fo

L

Q

D

A view

88+0.3

F view

500+ 0.8

= A

fo

3

o

Y

T

C

A-A(1:75)

C-C(1:75)

416

C view

430+ 0.8

493

B view

|

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

md/Title
INRILERBEMCY — LR — R
EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o]

752/ Approved %X /Checked #[&]/Created

iR x 52

R /Product number

AUPE88-50-43[101-[101

RFE/Scale
1:7.5

{EBL B /Date 2022/08/24

~R— /Page

2 /17




C fAl#x / C Frame

5 2-M3AHSR
2-M3 Countersunk

¥ R*IEHE4E / Same on the other side.

380 22.5

™

s

™

~ ~
o

: I
I

o™

XM / Front side %M / Back side
D {84k / D Frame
e
R / Front side 221 / Back side
Mm%/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #&[X/Checked X /Created FIF /Product number RIE/Scale
H88 — D430 _ 13
iR E3 (320 R—/Page
1ERLH /Date 2022/07/20 3/ 17




16

225

426

P

450

6.5

3-M2.5

Lz

LM

B

i

2-M3FH I}
2-M3 Countersunk

M3

5.5 10.5

14
3

£t47K / Total 4 pieces

[TAKACHI) #t&itshFBHTYE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
TL—L

Panel support frame

o]

7R/ Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

W500

RE/Scale
1:2

{ERL B /Date 2022/08/08

~R—/Page

4 /1




A /N2RJL / A Panel

75
Q-J

—_

P

XM / Front side

B /A% JL / B Panel

BT / Max dim. 54.6+0.3

A%h~Ti% / Max dim. 442+ 0.8

K / Front side

3.5

RS —HMA

Surface protective film side

6-M25FARILRY)—T
6—Metal sleeve for M2.5

RS — A

Surface protective film side

67.5

426

251 / Back side

221 / Back side

R4/ Title
HRRMIHTRIRTE Rees O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
=2 /Approved | #&R/Checked #IX/Created | Z2%/Product number RIE/Scale
H88 — W500 14
iR x 325 N—/Page
{ERLH/Date 2022/10/25 5/ 17




4-R14.7
s 8
; <+

M@ / Front side

489.4

470 8-4.5 2

RS —HMAY

Surface protective film side

H#hTi% / Max dim. 383+ 0.5

B#~F3% / Max dim. 453+£0.8

2@ / Back side

S/ Title
BREUINTFEMTE $1— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W500 - D430 _ 148
iR E 520 R=S/Page
YERL B /Date 2022/07/20 6 / 7




4-R14.7
<+ o
3 %5

M@ / Front side

489.4

470

4414

A#~Fi% / Max dim. 453+ 0.8

2
8-4.5
0 o\

w0

o

+H

(vl

(o]

™

£

©

3

=

~

*: e —Mal

§ Surface protective film side

T

\ o/
4-M4
2@ / Back side
w4/ Title
TAKACHI] #XR#SHFERTE THN— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
Fzh/Approved | #&K/Checked | BUN/Created | Z2%/Product number RE/Seale
W500 - D430 145
iR E3 (320 N—>/Page
{ER B /Date 2022/07/20 77/ 17






